Notes 19 Graphing a Quadratic in Standard Form and Finding the Rule.note®otdber 21, 2019

Graphing Parabolas
Graph: f(x) =-Va(x-1)* + 2

Method:

1. State the Vertex: V(h,k)

Determine the opening based on the sign of "a"
Find the zeros if they exist

Find the initial value (x=0, y=7?)

Make a table of values
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Finding the Rule of a Parabola given the Vertex and a Point

Example 1:
Given V(L1\,-5) and a point Pé,?) find the rule of the parabola
in standard form. —(LJA: &(o- G4 K

Method:
1. Plugin hk
2. Find a using P(x,y)
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If f(x) = 22, what are the possible values of x?
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Example 2:

W«
A parabola has a vertex V(3,-2) and passes through the point
P(9,16). What are the zeros of the function? The initial value?
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